AE 250 Aoz 1A ALt
FE A2 e oA,

she 3}

D EE
D EE
B =

o e



Yt

o]
H

Wridle 29 wxdler 1A Addste 34

el B2 5 2AEH = AE oA L.

A%
[ ]

13.5+1.5













@ 13.6+1.7 © 10.2+34

® 21.6+24 ® 17.2+43

D R
=%




Q) 24.3+2.7

® 17.5+25

© 12.8+1.6

® 22.8+38

D R
=%




1.2

45.6




3.6

25.2




295.2 + 36.9




a0 O] 2] _rmramo
12T0.25_1—mfm_\®\.\@\—\©\
@ 1200 @ 25 @ 12 @ 25 ® 48



12. the % Fol 35 Mok 2 AL olm AYYAA?

D 13.86 ~4.2 @ 25.92+7.2 ® 25.16 + 7.4

@ 9.36 + 3.6 ® 3.375+1.25



13. t= H7|E o&sto] AttE shA L.

H7]

386 x 44 = 16984

169.84 + 4.4 = |




14. o Ui 3 S0l 7P 2 AL ol AU

D 12.47+29 @ 53.55+8.5 ® 7.56 +2.1

@ 5.544 ~ 2.31 ® 2541 +12.1



rlo
S,
rlo
2
in
s,
o
W
S

O

15. el FollA ol 1 o 2

D 57.96+-9.2 @ 7.44+0.6 ® 8.96+11.2

@ 21.5+2.5 ® 1.82+1.3



16. Uil SOl ol 1 Mo} e 2L o AYUA
® 5.202 +2.89 @ 22.555 +17.35 ® 32.336=-8.6

@ 9.504 +4.8 3 3.294+3.66



17. e Wedl 5 ol g e AL ofn

D 60+2.5 @ 48+1.5

@ 144 + 9.6 ® 26 +3.25



18. the F UAle] ol 7hg 2

28 ol AR

@ 91=+0.7

© 49.28 + 0.64

© 1+04

® 16.65+ 3.7

D R
3%




19. & F %ol 12 H 2 A5 BF A2AL,

D 66.88+3.52 @ 2+0.16 ® 42.14+4.3

@ 62.16=-8.4 ® 16.02=3



20. T F ol 10 e 2 2L o A7

D 20.3+2.9 @ 3.44+0.43 ® 17.29+1.9

@ 2.754 +0.27 ® 20=25



21. oFgolA 92l %2 09 %2 2 WA

@ 155+0.31 © 1.55+0.31

kR ol



22. oFgolA 92l %2 09 %2 2 WA

@ 322+4.6 © 0.322+4.6

kR ol



